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In each of the following oo Jiksrol
questions, a sentence divided &'9% o
into four parts is given, read

the sentence carefully and _ Mem
find out the grammatically

Is free from error, mark option
9, ‘No error’,

Incorrect part. If the sentence \
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QUESTIONS 1 g

The Central and the state governments (1)/
together are facing a Rs. 20,000 crore revenue
loss due (2)/ to refunds claimed by companies
on account of (3)/ flaws in th rate

structure, according to findings disclosed by
states.(4)/ No error (5):@3
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QUESTIONS 2 0:30
fer Sy Ond

This year,@ndian Railway Caterinf#nd ourism
Corporation)(1)/ hgs launched many services to
make trai journey more transparent and
passenger friendly such as (3)/ the OTP-based
refund system, New IRCTC PNR linking and fare
refund policy. (4)/ No error (5)
Siedle Ot = el \ferd:
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QUESTIONS 3 0:30

The system gives the information about (1)/

)@a/eact refund amount received by the agent on
@/ the passenger's behalf against a cancelled
(3)/ ticket or waitlisted tickets that didn't get
confirmed.(4)/ No error (5)
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QUESTIONS 4 %ﬁ%\sﬁ‘{bﬁo

With more and more Indian enterprises
striving (1)/ to go digital, the increased speed
and bandwidth (2)/ of 5G networks will drive a
new round (3)/ of transformation across India
from next year.(4)/ No error (5)
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QUESTIONS 5 0:30

There will be a shift of computing to the edge,

(1)/ as India's businesses take advantagi jf (2)/

%be% of cloud and hyper-converged
infrastructure to deal with increasing da
gravity.(4)/ No error (5)
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QUESTIONS 6 0:30

A fast metabolism ensures that calories are (1)/
burned and used quickly, while a slow
metabolism means that (2)/ calories are burned
slowly and an excess of them may be left at the
end of the day, (3)/ leading to accumulation of

those calories as fat i @
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QUESTIONS 7 0:30

China has upped the ante against India's

security (1)/ establishment by massively
enhancing its (2)/ military infrastructure in ~LQL
bordering areas in Ladakh that@/ have )
witnessed skirmishes between the forces of the
two countries.(4)/ No error (5)
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QUESTIONS 8 0:30

As the Ch_risin’a_s and Wr approach as you
inge on cakes, oily and unhealthy food,
)/ cocktails and drinks, it is important to
remind yourself (3)/ that you will regret it, as

soon as the holiday season is over.(4)/ No error

(5)
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QUESTIONS 9 0:30

Solar eclipse or Surya Grahan is a geographical
(1)/ concept, where the sun, the Earth (2)/ ane
M%ﬁgn in such a way, (3)/ that'you se¢

surrpartially or fully covered, from the
Earth.(4)/ No error (5)
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QUESTIONS 10 0:30

o

Talking about myths and up.erstitions (1)/

. — N — . .
around eclipses, many cultures, including in
India, (2)/ advise pregnant women and (3)/
young children to stay indoors during a solar
eclipse.(4)/ No error (5)
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In the given passage, there CULN
are some blanks which 7

need to be filled with

appropriate article%

the). In some blanks there
[ght be no need of

any article. Fill in the blanks
accordingly.
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Fopur Now

Researchers have engineered new bacterial
strain that consumes __ (11)  carbon dioxide
for energy instead of complex organic
compounds, an advance that may lead to future
projects to lower atmospheric levels of the
greenhouse gas using microbes.

o ol @t




the Weizmann Institute of Science in __ (13)
Israel, said living organisms on the Earth are one
of two categories -- autotrophs that convert
inorganic carbon dioxide into biomass, and
heterotrophs that consume organic compounds.
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The study, publishe in,the journal Cell,
described  (14) rocess by which the
researchers converted the bacterium

Escherichia coli to a carbon dioxide consuming
autotrophic strain.

The researchers said autotrophic organisms
dominated the biomass on the Earth, supplying
much of the planet’s food and fuels.
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O
They added that __ (15)  better understanding

of the principles of autotrophic growth, as well
as methods to enhance the process are critical
for the Earth's sustainability in the age of a
human-driven climate crisis.
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